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VIL  Given: BD bisects <EBC

Prove: <I and <3 are supplementary

statements reasons

1. BD bisects <EBC 1

2. <1z<2 2.
3. <2 and <3 form a linear pair 3
4. m<2+m<3 =180 4
5. m<l=m<2 s
6. m<1+m<3 =180 6.

7. <1 and <3 are supplementary 7
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Given: AB=9, BC =7 and AB + BC = AC

Prove: 16=AC A 3
statements . reasons

1. AB=9, BC=7 L

2. AB+BC=AC 2.

3.9+7=AC 3

4.16=AC 4,
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1L Given: AC =BD
Prove: AB=CD

1. AC=BD

2. AC=AB+BC
BD=BC+CD

3. AB+BC=BC+CD

4. AB=CD
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I Given: mz1=mz2; mz3=mzs4
Prove: mz ABC = mz DEF

Lmzl=mz2 mz3=msd

2. mzl+mz3=mz2+mzsd

3. mzl+m 3=mzABC
mz2+mz4=mzsDEF

4. mzABC =mz DEF




